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This Question Paper consists of 36 questions including 5 figures and 12 printed pages + Graph sheet.
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General Instruocti
1. Candidate

2.  Please check|the ] ify and total mpmber of questions
contained in the Question Paper are the same asthose printed on the top of the first page.
Also check to see that the questions are in sequential order.

3. For the objective type of questions, you have to choose any one of the four alternatives given
in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book
grven to you.

4.  All the questions including objective type questions are to be answered within the allotted
time and no separate time limat is fixed for answering objective type questions.

5. Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 51/ AS/3-A on the Answer-Book.
7. (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Mepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors,/mistakes in understanding the question will be yours only.
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MATHEMATICS
( it )
(211)
Time : 2V Hours | [ Maximum Marks : 85
HEY ;24 HUE ] [ quis : 85
Note : (1)  Question Numbers (1-10) are Multiple Choice Questions. Each question carries

(2)
(3)
(4)

(3)

i+ A §

(2)
(3)
(4)

(3)

one mark. For each question, four alternative choices A, B, C and D are provided,
of which only one is correct. You have to select the correct alternative and indicate
it in the answer-book provided to you by writing (A), (B). (C) or (D) as the case
may be. (). No. 11 to 15 also carry one mark each.

h

estion Mumbers (26-33) carry 4 marks each.

estion Mumbers (34-36) carry 6 marks each.

All questions are compulsory.

WF HE (1-10) 7% FEfEEEE ¥ (Multiple Choice Questions) ¥1 %3% ¥9 0%
fsERbiEFs R A B Crn D B E fad & ¥mm vw ood B
AT T s T R W W T o o g § (A), (B), (O) F9= (D)
St ot frafa &, s et ) v dEm 1 915 o dE o

T T (16-25) 7% TS v & 2 #w )

W TE (26-33) TF WHT W F 4 #F
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1. &0% of the students in a school are girls. If the number of boys in the school is 320, the 1
total number of students in the school is :

fredt fammera & 0% ot wrefeal ¥ oft oo & oosf &t dem 308, @ faea

=i Pt =t g B0t -
(B)

(A) 400

450 (C) 600 (D) 800

2. An article i1s sold for ¥ 2,000 cash or for ¥ 600 as cash down payment followed by 1
¥ 1680 after one year. The rate of interest charged under instalment plan is :

fet 70 $1 T 2,000 F THe e T A9 T 600 F T YW 99 THF TH 9 7990
TR F YT AT T T s M TR T R R

(A) 16%

(B)

20% (C) 28% (D) 40%

3. In the figure, given here, £LACD + £CBF + £BAE is equal to : 1
% 5t T A § ZACD + £CBF + <BAE It # ¢

E
A

o/ I\
p

c o
(A) 180° (B) 360° (C) 450° (D) 540°
4.  The length of the arc of a sector of a circle of radius r and central angle 8 is equal to : 1

FrmrmiErsmeTm SR msmfaasrSsmaiamda .

(A) 1r[1 + %]

ar (1 =
(B) [ + 3EﬂQ]

© 3 ©
5. sin® 6F + cos® 457 is equal to : 1
sin® 60F + cos? 45° FTET §
5
w Bk ® 1
3 1
< 3 o) 3
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6. 909 in the form E is equal to :
9

909, E Feqdam .

q
1 101 100 10
(A) 7 ® © 5 ©)
7. Ifa=5—|—2\||'f-':|,ﬂ1-El'l.a—l is equal to : 1
a

ﬂﬁa=5+2£ﬂ,?ha—£ T

(A) 46 (B) —af6 (€ 10 (D) | —10

B. A triangle ABC is necessarily congruent to another triangle POR if : 1
%1¢ faye ABC 1% 3= B{= PQR ¥ wravaig oabmom #nft 9f -
(A) £LA=sP, £LB=2Q, LC=LR. (B) LA=:P, LB=sQ, AB=QR

(C) AB=PQ, BC=QR, AC=sQ (D) £B=sQ sC=sR, BC=QR

9. In the plane of a triangle, the point equidistant from the vertices of the triangle is its : 1

(A) centroid (B) incentre (C) circumcentre (D) orthocentre
e S i s it i fer s m rEwd t .

(A) F==F (B) #:%= (C) wfe= (D) & F
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10. Which of the following is not true ? 1
(A) A trapezium is also a parallelogram.
(B) A rhombus is also a parallelogram.
(C) A rectangle is also a parallelogram.
(D} A square is also a parallelogram.
Frreifefis § & 5 o 597 W 7 #7

(A) TF TREE UF TEEE SdE ot g i
(B) TE TE=gA UF gArA S ot @ #

(C) TF =9 UF warm Sgd= oft dm #

(D) wF =1 % FEeE SagE o de

=8 cm and 1

11.

ol = T d oga W= b am OPLAB #1 aff AB=897. s OP 3 A &, #

12. Find the volume of a right circalar cone whose area of the base is 36w cm® and slant 1

height is 10 cm.
I TR G g 1 S S it Fewd snen A 36w A2 & o faash frds
Fard 10 A ¥

13. Ina AABC, £B=9%F, AB=5cm and BC=7 cm. Find the value of tan A —cot C. 1
et fays ABC &, sB=90°, AB=5 3.5 39 BC=7 8. %1 tan A—cot C 1 71 71
FHitag |
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14. A bag contains 15 red balls and some white balls. If the probability of drawing a white 1

1
ball from the bag is E find the number of white balls in the bag

Pt 421 15 vt 7o 9 e e 1 o 8 2 s e 2 Pt o 2 e
1 d9 v 72 3 Hen W )

15. The mean of 8 observations was found to be 30. Later it was detected that one observation 1
&4 was mistakenly read as 24. Find the correct mean.

8 e = w30 Frren 0 R F v g9 fE Ut a4 = e | 24 g fee o e
TRt AT T St

16. Evaluate the polynomial 213 —3x2—8x +12 for x= —2 and state whether this value of 2
1 is a rero offttegiver potyrommiat-or oot

r=—2% oy w200 - 37— Bx+ 12 F1 HF T S 3w wwen fE o e w9 frd
TR TS [ s

17. Find the distance between the points (—6, —1) and (-6, 11). 2
fagaii (-6, —1) 790 (—6, 11) F 9 51 037 Fifam)

18. Find the coordinates of the point which divides the line-segment joining the points 2
(—1, 4) and (0, —3) in the ratia 1 : 4 internally.

4 fag ¥ Frdwis am =ifwa =t fagad (-1, 4) 70 (0, - 3) 71 fromt 75t Tn-wT 91 104
¥ grfrs arqom F fawal s &

19. An integer is chosen between 0 and 20. Find the probability that the chosen integer is 2

a prime number.

07 20 F dt9 UF iE w99 s 0 9 s = ouw s gem i oW
Wil 9 ity |
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20. The perimeter of a rectangular plot of land is 32 m. If the length is increased by 2m = 2
and the breadth decreased by 1 m, the area of the plot remains the same. Find the
length and breadth of the plot.

feeft smammm s = aftar a2+t B oft s § 24 9t gfs a e F 15 =t o=
1AM, @ T T G Ted & 5WM 6 T § T F T a0 St m s

21. At what rate of interest per annum will simple interest be half of the principal in 2
5 years ?

=3 71 50 gfts 71 8 57 & oryrm == geen F o F s em

22. Show that a cyclic parallelogram is a rectangle. 2

fermren i v S@Ts gorm S9de UF arm

23. In the figure, given here, O is the centre of the circle and PQ and PR are the 2
tangent - segments of the circle. Find ZRPO.

T &t Tt A § O 90 31 55 € 79 PQ a9 PR 99 & t99- 1AM E £1 ZRPO #1519 F6
S0

2 22
24. The volume of a solid hemisphere is ?13; cm. Find its total surface area. [use 7 = - ] 2

ﬁaﬁa“maaﬁ-rﬂﬂmm?m% AR o ool TEE d9wa 99 S

= = Sy
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25. Standing on the top of a tower, 100 m high, Swati observes two cars parked on the 2
opposite sides of the tower. If their angles of depression are 45° and 307, find the
distance between the cars.

o= 100 /1 =t drm § fre ot dee wfa A = faefe e F = = ot @
F1 s wot #1 2fy T s s 450w aoe € @ wl ¥ e S o aw St

26. At what rate percent per annum will a sum of ¥ 15,625 become ¥ 17,576 in 3 years on 4
compound interest when the interest is compounded annually ?
afe = FiE w9 § a9t 8, 9@ 215,625 T g e afis o vfew | 9wefs ==
w3 9d § 717,576 €011 7

27. In the figure, given here, AD is the bisector of #BAC. If AB=%cm, AC=12cmand 4
BC=7 cm, find the measures of BD and DC.

o% =t Tl ST #, AD FM SBAC T THipwES #1 3% AB=9 &5, AC=12 85 7
BC=7 & &, & BD & DC =t 719 7 Fifem

N
// AN

N

B &) C
7
28. Find the mean of the following data by step-deviation method : 4

Classes : 10 - 20 20 - 30 30 - 40 40 - 50 50 - 60 60 - 70
Frequencies : 2 3 5 7 5 3
72 g fafy & Frfofiom, ol = = m =ifem .
=1 : 10 - 20 20 - 30 30 - 40 40 - 50 50 - 60 &0 - 70
Eeic g . 2 3 5 7 5 3

29. Find the values of m for which the equation 3x” + éx + m=0 has two distinct real roots. L

m ¥ T o Ft 7. Fifm faF fom ot 32 + e+ m=0 % F e Trfas @ owe
#h
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30. Find the circumradius of equilateral triangle of side 6 cm. 4
6 8.5 o 7= TmaEn fgm w1 i  m st
31. Simplify : 4
(5x+ 3y]3'+ 35x+ 3y}|2{5.t — 3y) + 3(5x + 3y)(5x — 3]:|r]'|2 +(5x— 3],.'}3

TTE FITA

(5x+ 3y]3'+ 35x+ 3y}|2{5.t — 3y) + 3(5x + 3y)(5x — 3]:|r]'|2 +(5x— 3],.'}3

32. Construct a right triangle ABC, right - angled at B in which BC=3cmand AC=6com. 4
TF T8 FHEm 5y ABC Ft =W Fifau famw ¥ B IEEm, y= BC=3 R W
AC=63R1 #

OR( Feram )
For visually impaired learners
( Fam g famen fanfidaf & fom)
Write the steps of construction of a tangent to a circle at a given point on it using the
centre of the circle.

9 ¥ 2w IEm w6, 39 W fom v o w gm w1 o T 9 e F o fafag

33. A survey of prefer todo 4
in their free|time and the information, thus collected is recorded in the following
table :

Preferred Afctivity Number of Students
Playing B0
Reading stoky 3 45
Watching TV 40
Listening to music 25
Painting an

Draw a bar graph for this data.
feredt Faemera % 200 PPl o s w¥em o2 = F T fen mn 5 2 arm et oog

TN FU THL T4 £, 997 WA gEA ) A0 o1 7 At & w9 A fowd fem o
w1 THez R wemT feramfefai =t =

e 60
FEF T TEE T 45
2.4t Zmm 40
it g 25
HfEn 30
T #iwd ¥ foau us doeam o= i
OR( #ear )
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For visually impaired learners only
( Fam e fammenn faanfifaf & fom)
The following table gives the distribution of employees of different income groups residing

in a locality.

Monthly income (in T) Number of employees
20,000 - 25,000 35
25,000 - 30,000 75
30,000 - 35,000 150
35,000 - 40,000 155
40,000 - 45,000 70
45,000 - 50,000 15

Form a cumulative frequency table for the data and answer the following questions :

(a) How many employees earn less than or equal to ¥ 30,000 per month ?

30,000 - 35,000 150
35,000 - 40,000 155
40,000 - 45,000 70
45,000 - 50,000 15

= #iwmg & o v dedt arar andt s qa Frefafas v $ oo e .
(a) T sebnfigi = afes s 730,000 & 59 s g &7
(b) T sl =) wfos s T 30,000 & wfas &7

If pth, gth and rth terms of an AP. are x, y, z respectively. Prove that [
rig—r)+y(r—p)+z(p—q)=0.

ﬂﬁﬁ?ﬁﬂ.ﬂ.afpi,qﬁﬂmrﬁﬁm: x, y, z @ ot fag wifan fF -

rig-r)+y(r—p)+z(p—q)=0.
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35. Inthe figure, given here, OAQB is a quadrant of a circle with centre O and radius 7 cm f
and APB is a semi circle. Find the area of the shaded region.

ol %t it wrgfy § OAQB, O ¥ AW 7 A, f 3w 39 = wqaly f5=n ww ¥ aw APB
TH AT &1 owitEa W 1 AEEn g i)

36. If sec 8+tan B=p, show that : ]
e
=1
sin B = P:
Pl

ﬂf'.{5ecH+tanH=pEL'|,?i'fﬁ'ﬂTﬁf$:

m
=
&=
Il
Gl
1

=D -
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